NOMBRE:

AT ‘Prep

Polynomials

Sk, Brendawn School
Mr. Martinez



2
// mmea 59 jX\/«f’%% % L%fg»esr

tenTS ex
M ) Mv’ d
% W NOVaewble

-

3% —4

19.  Which row correctly shows the degree, the coefficient, and the constant term in the
expression shown above?

Row Degree Coefficient Constant Term
A 2 3 —4
' B. 3 2 4

C. 2 —4 3

D. 3 4 2

The diagram below is a model of a polynomial expression.

;ﬁ%‘@g ) !/ ""“-

O'; ; x (\o)‘(a) 37. Which of the following rows correctly describes the modelled polynomial expression?
AN

% ! Number of Terms Degree {I
\ﬁ (QF‘ é( . . 2 2 Legend
}" | : .
A

i . ) O==1 D =X =—x2
r | : |

CRES
!
e
1
-
I
>‘l’\)

v
(S}

AL

(OS]
IS

29. Which of the following pairs of expressions represents like terms?
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D. 4(-1x) and o e "9 e




9. Which pair of expressions below are equiva]gnt for all values of x? E @U( \( A Lmr | “A [3
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Which of the following expressions represents the solution to the model shown above?
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29. Which of the following polynomial expressions could be added to the expression shown
above to result in a sum that contains only a constant term?

Legend l
A. x*+5x+3 |
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36.  Which of the following expressions could represent Polynomial 4 if the sum of all four
expressions is 6x?

A, 9x*—5x—1

B. 3x+x-2
C. —xX*—x+5
D. 32+ 1lx+1 The following diagram represents a balanced mobile.
l
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23. The sum of all parts of the mobile is We iﬁbr IS J
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A, 2x%+12x L’ I %)

B. 2x%+09x
C. x*+6x 3x
D.
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Two students, Robert and Jacob, simplify the expression 3t A= [) = (2x +5), as shown

below.
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Robert Jacob
Stepl | =32+ 12x-3—(2x+5) | =32+ 12x— 1 — (2x+5)
Step2 | =3x>+ 12x-3-2x+5 | =32+ 12x-1-2x-5
Step3 | =3x% + 10x +2 =3x%+10x-6

3. The first error made in the simplification of the expression shown above was made by

A.

B.
C.
D

~
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Robert in Step 1
Jacob in Step 1
Robert in Step 2
Jacob in Step 2

L.

When x?— 9x - 4 is subtracted from the sum of 5x*— 8x+2 and 2x%— 3x— A
the result is

A, x*-20x-9

B. 2x%+4x+ 13

C. 6x*-2x—1

D. 8x*-20x-9

When the expression (.rl —S5x+4)- (3.x2 + 8x—20) is simplified, the result is

A, —2x*—13x+24
B. -2x*-3x+16
C. 2x*+13x-24
D. 2x2+3x-16
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The diagram below shows an incomplete model of the multiplication of two polynomials.
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shown 5=
A, xX*-5x
B. —x*+5x
C. x-5

D. —x+5
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9. The algebra tile model above could represent the product of
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B.
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2and 2x + 4)

2and 2x — 4)

4 and (—x — 2)

4 and (—x + 2) g
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Which of the following polynomials represents the unknown expression in the model

Legend
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19. Which of the following models could be used to represent the division of 6x%—3x by —3x7
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Four students simplified the expression —(2(3‘\)—)‘ Their answers are shown below.
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Student 1 Student 2 Student 3 Student 4

16. Which student correctly simplified the expression?

A. Student I
B. Student 2
C. Student 3 Numerical Response
D. Student 4

n The quotient of (- 12x* — 9x) + Blx is —4x — 3. What is the value of 7

Answer:

(Record your answer in the numerical-response section on the answer sheet.)



